Construction division. Advice for giving credit to contractors/suppliers.

,	No. – site bills ister	17	250		Date Regi	- site bi	ills	510	5/2022
Co	mpany Name:	M	RMII	0	Site:			6	M.R
Nar	ne of Contractor		KIII (han	MO-V (Suile		
Nat	ure of work		ebend les w		do		1 00	- Bl	och
Tro de	rk done	From	and the local division of the local division	161	105	T	Date	30	15/20m
SI. No.	Villa/Flat/block no	D. Q	ty.	Rate	105	Units	Amou	and the second s	Contractors bill no
1.	Towards F-BS	lock							
2.	blat nor 401					Bard Half Hall Strategy and Same Annual Strategy and Same A			
3.	SBUA (G7)		911	16	1-	365	14.	576	
4.	Sterting (13	-1.)	245	16	1-1	Rff	39		-
5.	200 st per To		400	15	31-	388		200	
6.	bitchen 8 ach	lety	80	1	511	Stt	the second s	00	
7.		1		(terretation on the descent	4475998449999999999999999999999999999999	
8. 9.							and a constant of the state of the		
9. 10.							Think the second department		
10.	ሞ	tal:							
	equired		7010				26,8		
	Urcment &		∃'NO.			vill requir]	O YES J	2 NO.
		Not	nired required			rement &	1	C-Enclos	1
PO/W	Ю по.		cyuirea	a contract of the second second	And Taken and the state of the	te sheet: O date:		□ Not er	closed
Rema	rks: All	2010	2						
	ELM I	0010	(or	2 ple	red				
								and a state of the state of the state	
		Anna ann an Aonaichtean ann an Aona							
Appro	ved by Project Man	- 11	Approv	ved by]	Desig	n Team	Anon	oved by	
Date:	Λ	dit	Date:					and the second se	W.D.
Sign:	KV	/	Sign:				Date: Sign:		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, carth work, turnkey civil contractors. 3. Whenever not applicable – fill NA. 4. Estimate and measurement shoets are not required for turnkey jobs where guideline rates are clearly given.

MEASUREMENT	SHEET					4	Ramprasad	
Company Name:	MRMLLP					Approved by:	Kampiasaa	
Project:	Gulmohar Resider	ncy				Sign:		
Work Description:	Flooring and Bath	room tiles in F-404 flat						
Contractor Name:	Mahendra kumar	Gujjar						
Prepared By	K.Srikanth							
Date:	03.06.22							
			A	В	С	D	E= AxBxCxI	F
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
1	F-204 Flat							
	2'x2' flooring	SBUA 1360sft(67%)	911	1.00	1.00	1.00	911.00	Sft
	2'x2' Skirting	Skirting 18%	245	1.00	1.00	1.00	245.00	Rft
		(200 sft per toilet)	200	1.00	1.00	2.00	400.00	Sft
	Kitchen&Utility	(80 sft per flat)	80	1.00	1.00	1.00	80.00	Sft

*

ESTIMATE SHEET								
Company Name:	MRMLLP					Approved b	Ramprasad	
Project:	Gulmohar Residen	cy				Sign:		
Work Description:	Flooring and Bath	room tiles in F-404 flat						
Contractor Name:	Mahendra kumar (Gujjar						
Prepared By	K.Srikanth							
Date:	03.06.22	•						
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount		
1	Vetrified tiles	SBUA 1360sft(67%)	911.00	Sft	16.00	14576.00		
		Skirting 18%	245.00	Rft	16.00	3920.00		
		(200 sft per toilet)	400.00	Sft	18.00	7200.00		
		(80 sft per flat)	80.00	Sft	15.00	1200.00		
						26,896		
	Amount in word	ls:Twenty Six Thousar	d Fight Hur	ndread Ń	nety six Ru	inees only		
	Amount in word	is. I werity Six Thousan	ia cigit Hu		incry SIX Nu	pees only.		

Allowance for Consumables

Mahendra Kumar Gujjar mallapur, Hyderabad.

Date: 06.03.22

In favor of:	MRMLLP
Project / Site:	Gulmohar Residency
Location:	Mallapur

Type of Work:	Tiles work at F-Block
Towards:	Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles work at F-Block	
	flat.no:404	Rs.5,379/-
	Total Amount = $26,896/-$	
	Work done from date 01.05.22 to date 30.05.22	

Amount in words: Five Thousand Three Hundred And Seventy Nine Rupees Only.

Sign: _____

Bill for Labour Charges

Mahendra kumar Gujjar mallapur Hyderabad.

Date: 03.06.22

In favor of:MRMLLPProject / Site:Gulmohar ResidencyLocation:Mallapur

Type of Work:Tiles work at F-BlockTowards:Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Tiles work at F-Block	
	flat.no:404	Rs.10,758 /-
	Total Amount = $26,896/-$	
	Work done from date 01.05.22 to date 30.05.22	

Amount in words: Ten Thousand Seven Hundred And Fifty Eight Rupees Only.

Sign: _____ 🕐

Bill for Equipment Allowance

Mahendra ku,mar Gujjar mallapur Hyderabad.

Date: 03.06.22

In favor of:MRMLLPProject / Site:Gulmohar ResidencyLocation:Mallapur

Type of Work:Granite Laying at F-BlockTowards:Allowance for Equipment

S No.	Description	Amount
1.	Brief description of work done: Tiles work at F-Block flat.no:404.	Rs.10,758 /-
	Total Amount = $26,896/-$ Work done from date 01.05.22 to date 30.05.22	

Amount in words: Ten Thousand Seven Hundred And Fifty Eight Rupees Only.

Sign: